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Electron beam parameters
Crossing 
angle, rad

Laser 
σxy, µm

Laser 
σz, ps

N 
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Emitt (mm 
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E, GeV 

0.3 3, 8 0.035 1.5E+09 5 5 0.08  (24 µm) 1.4 16.5

● Gaussian beam, focused on IP; 
● Tungsten target 1%X0 (35um) thickness
● 7.51 m from IP;
● 15 M electrons (BX/100);  (also 75M)
● Production cut: 1 μm.



Electrons in IP without target and photons in IP



Photons and  photon macro particles



Photon macro particles



Backup



7

Target 2 m, 5 m and 12 m upstream of IP 

● 2 m:  x = 19 m;σ μ
● 5 m:  x = 43 m;σ μ
● 12 m:  x = 100 m;σ μ



  

Transverse beam dynamics

If K=0 (no field) β(z)=β
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with z=0 at IP
β

*
=σ*2

ε



  

Dependence between σ(z) and σ*
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